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QUESTION 1

When the LCAS function is used/ which of the following overhead bytes are used to transmit control information?
(Multiple Choice)

A. M1
B. H4
C. K2
D. K4

Correct Answer: BD

QUESTION 2

The receive end performs BIP-8 check for the unscrambled STM-16 frame. If the BIP-8 check result XOR the value of
the B1 byte contained in the following STM-16 frame is 10001100, it indicates that () bit error blocks exist in the STM-16
frame.

A5

B.3

C.6

D. Unclear

Correct Answer: B

QUESTION 3

Which of the following is the maximum number of OSN 3500 subracks that can be installed in a 2.2 m cabinet?
Al

B.2

C.3

D. 4

Correct Answer: B

QUESTION 4

Which of the following is the function of TCM overheads in ODUK signals?
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A. Channel supervisory overhead

B. Path trace identifier overhead

C. Tandem connection monitoring overhead
D. General communication channel overhead

Correct Answer: C

QUESTION 5

When the lower-order resources of a device are insufficient, which of the following measures can be taken? (Multiple
Choice)

A. Configure a VC4 server trail.

B. Combine available lower-order resources.

C. Use a cross-connect board with a larger lower-order cross-connect capacity.
D. Configure VC4 services.

Correct Answer: BCD
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